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Which of the following is not Micro economics ?
(A) Fixation of Price Level (B) Fixation of wage of a labour

(C) Equilibrium of a firm (D) Price determination of a commodity

For which of the following is the knowledge of statistics necessary ?
(A) To draw a diagram (B) To draw a graph
(C) To draw a diagram and a graph (D) To draw pictures

Which diagram is appropriate for one type of data ?
(A) Clustered bar diagram (B) Bardiagram
(C) Pie diagram (D) Line diagram

By which can the statistical data be drawn in various figures according to exact
measure ?

(A) SPSS (B) Pendrive
(C) Excel sheet (D) Powerpoint

Which kind of commodities are complementary commodities ?
(A) Joint (B) Competitive
(C) Not Related (D) Alternative

What is change in economic growth ?
(A) Structure of economic (B) Psychology of people
(C) National income (D) Standard of living

What is not changed because of changes due to price ?
(A) Demand (B) Demand Curve

(C) Preference of Consumers (D) Contraction of Demand

50
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10.

11.

12.

13.

14.

15.

16.

What does the increase in per capita income indicate ?
(A) Economic Development (B) Economic Growth
(C) Economic Progress (D) Distribution of Income

What is called the quantity produced by producers ?
(A) Stock (B) Supply
(C) Demand (D) Production

In which year was first human development index presented ?
(A) 1990 (B) 2004
(C) 2010 (D) 2003

In economic principles, what is considered in the study related to supply ?
(A) Individual Supply (B) Market Supply
(C) Supply Function (D) Law of Supply

Which of the following can be used as the best means for storage of value ?
(A) Crops (B) Animal
(C) Stones (D) Coins

According to Marshall what are the invisible hands of market ?
(A) Market demand and price

(B) Market supply and price

(C) Market demand and market supply

(D) Market demand, market supply and market price

Which is the oldest form of money ?
(A) Symbolic Money (B) Banking Money
(C) Commodity Money (D) Metal Money

What is the slope of total income curve in perfect competitive market ?
(A) Positive (B) Negative
(C) Proportionately Positive (D) Proportionately Negative

Which of the following deposits do not get interest ?
(A) Current Deposits (B) Saving Deposits
(C) Recurring Deposits (D) Long Term Deposits
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17.

18.

Of what type is the cost of wages of Labourers, cost of raw material, etc. ?
(A) Real Cost (B) Fixed Cost
(C) Variable Cost (D) Capital Cost

What responsibility is accepted by central bank in the economy ?
(A) of economic development (B) of economic stability
(C) of monetary advice (D) of economic interest

19. Inter-dependence is seen in which market ?

(A) Oligopoly (B) Monopoly
(C) Monopolistic Competition (D) Perfect Competition

20. Which of the following is the qualitative instrument of monetary policy ?

(A) Discriminatory Interest Rate

(B) Bank Rate

(C) Cash Reserve

(D) Repo Rate and Reverse Repo Rate

21. Which of following is not a primary service ?

22.

23.

(A) Education (B) Transport
(C) Import - Export (D) Irrigation

How many daily calories per person per day in rural areas is decided by Indian Council
of Medical Research ?

(A) 2400 (B) 2500

(C) 2200 (D) 2700

How many are the sectors for employment ?
(A) two (B) three
(C) four (D) five

24. What is poverty ?

25.

(A) State of Scarcity (B) State of Inequality
(C) State of Starvation (D) State of lack of Consumable Expenditure

Purpose of Liberalization is

(A) State controls in economy

(B) Strict licensing process for industries

(C) Acceptance of private sector in economy

(D) Distinction between domestic industries and foreign industries
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26. What are the daily calories determined by Indian Council of Medical Research for
poverty line in urban areas ?
(A) 2600 (B) 2100
(C) 2000 (D) 2300

27.  Which kind of economy is adopted by India ?
(A) Dual Economy (B) Socialistic Economy
(C) Combined Economy (D) Capitalist Economy

28. Which of the following is the cause of poverty ?
(A) Distribution of income and property
(B) Low agricultural productivity per labour
(C) Life expectancy
(D) Housing

29. When did India became a member of World Trade Organization ?
(A) In 1991 (B) In 1985
(C) In 1995 (D) In 1990

30. In India benefit raised by economic reforms remains in whose factor ?
(A) Rich (B) Poor
(C) Industries (D) Business

31.  Which of the following is not the nature of foreign direct investment ?
(A) Institutional Investment (B) Earning of exchange
(C) Property (D) New Technology

32.  Which type of unemployment arise due to lack of effective demand ?
(A) Frictional (B) Seasonal
(C) Cyclical (D) Disguised

33.  Who has give the income based definition of national income ?
(A) Fisher (B) Marshall
(C) Pigou (D) Keynes

34. In economics by which nature is unemployment considered ?
(A) Voluntary (B) Unwilling
(C) Political (D) Active Labour
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35. What is the national income obtained at constant price called ?
(A) Constant National Income (B) Total Current National Income
(C) Monetary National Income (D) Real National Income

36. How many are the measurements to know the nature of unemployment ?
(A) Three (B) Five
(C) Four (D) Two

37. In which of the following is pension of soldiers included ?
(A) Revenue Income (B) Capital Income
(C) Capital Expenditure (D) Revenue Expenditure

38.  What is the name of the committee formed to study the problem of unemployment ?
(A) Shree Raj Krishna Committee (B) Tendulkar Committee
(C) Keynes Committee (D) Bhagwati Committee

39. Who determines the rate of GST ?
(A) State Government
(B) Central Government
(C) Jointly by State and Central Government
(D) GST Council

40. What is the direct result of lack of manpower planning ?
(A) Unemployment (B) Educated Unemployment
(C) Go to foreign countries (D) Spread of education

41. Which of the following is not an objective of economy ?
(A) Minimum standard of living
(B) Employment opportunity to each one
(C) Maximum utilization of natural means
(D) Practical decision of ownership of wealth

42.  Which of the following is not the cause of high birth rate ?
(A) Marriage System
(B) Low Income Level
(C) Infant Mortality Rate
(D) High Standard of Living
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43.

44,

45.

46.

47.

Who is the author of the book ‘Unto the Last’ ?
(A) Gandhiji (B) Pandit Deendayal
(C) Thoreau (D) Ruskin

Which of the following reforms is land related reforms ?
(A) Protection of Tillers (B) Regional Rural Banks
(C) AGMARK System (D) Bottom Price

How many tiers of government are mentioned in the Indian Constitution ?
(A) One Tier (B) Two Tier
(C) Three Tier (D) Zero Tier

What is the cause of low agriculture productivity ?
(A) Pesticides (B) Chemical Fertilizer
(C) Machines for Agriculture (D) Irrigation System

Migration of population due to the construction of dam on Narmada river is what type of
migration ?

(A) Political (B) Natural
(C) Social (D) Developmental

48. The manmade factor of production is

49.

50.

(A) Labour (B) Capital
(C) Entrepreneur (D) Land

Which of the following production unit is not a cottage industry ?
(A) Khakhra - Papad (B) Artistic Products
(C) Incense Stick (D) Khadi

Which of the following is not a factor affecting balance of payments ?
(A) Exchange Rate (B) Legal Controls
(C) Inevitable Exports (D) Structural Facilities
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